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\begin{center}

\scalebox{.34}{%$\rotatebox{-90}

{

S
\mathbf{\begin{array}{lcccccccececececccceccccCcccccCcCcccccccccecccceceeccccecec )
\scalebox{2}{\textrm{\black Row 1l:}}&\scalebox{2}{$\mathbf{1}$} &
\scalebox{2}{S\mathbf{1}S$} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} \\
&{\black 0} & {\black 0} & {\black 0} & \scalebox{2}{$S\mathbf{1}S} &
\scalebox{2}{$S\mathbf{1}S$} & \scalebox{2}{S$S\mathbf{1}S$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & \scalebox{2}{S\mathbf{1}$} & \scalebox{2}{$\mathbf{1l}$} &«
\scalebox{2}{S\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} &
\scalebox{2}{$S\mathbf{1}$} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & \scalebox{2}{S\mathbf{1}S$} & \scalebox{2}{S\mathbf{1l}$} &
\scalebox{2}{S\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &



{\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}$} & \scalebox{2}{$\mathbf{1}$} &
\scalebox{2}{S\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} \\
&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} & \scalebox{2}{$\mathbf{1}$}
& \scalebox{2}{S\mathbf{1}S$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}$} & \scalebox{2}{S$S\mathbf{1}$} &
\scalebox{2}{S\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & \scalebox{2}{S$S\mathbf{1}$} &«
\scalebox{2}{S\mathbf{1}$} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{$S\mathbf{1}$} & \scalebox{2}{S$\mathbf{1}S$} &
\scalebox{2}{$\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & \scalebox{2}{S\mathbf{1l}$} &
\scalebox{2}{S\mathbf{1}S$} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} \\



&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}$} & \scalebox{2}{S$S\mathbf{1}$} &
\scalebox{2}{S\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & \scalebox{2}{S\mathbf{1}$} &
\scalebox{2}{$S\mathbf{1}S$} & \scalebox{2}{S$S\mathbf{1}S$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & \scalebox{2}{S\mathbf{1}$} & \scalebox{2}{$\mathbf{1}$} &«
\scalebox{2}{S\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} &
\scalebox{2}{$S\mathbf{1}$} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} \\

\scalebox{2}{\textrm{\black Row 16:}} &{\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{$S\mathbf{1}S$} & \scalebox{2}{S$S\mathbf{1l}$} &
\scalebox{2}{S\mathbf{1}S$} \\

\scalebox{2}{\textrm{\black Row 17:}} &\scalebox{2}{$\mathbf{1}$} &
{\black 0} & \scalebox{2}{S$S\mathbf{\bar x}35} & {\black 0} & {\black 0}
& {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &



{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} \\
&{\black 0} & {\black 0} & {\black 0} & \scalebox{2}{$S\mathbf{1}S} &
{\black 0} & \scalebox{2}{S$S\mathbf{\bar y}$} & {\black 0} & {\black 0}
& {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & \scalebox{2}{S$\mathbf{1}$} & {\black 0} & \
\scalebox{2}{$\mathbf{x}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & \scalebox{2}{S\mathbf{1}S$} &
{\black 0} & \ \scalebox{2}{S$\mathbf{y}$} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & \scalebox{2}{$\mathbf{1}$} & {\black 0} &
\scalebox{2}{$\mathbf{\bar x}$} & {\black 0} & {\black 0} & {\black 0}
& {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}$} & {\black 0} & \scalebox{2}{$S\mathbf{\bar
v1s$} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & \scalebox{2}{S$S\mathbf{1}S$} & {\black 0} & \
\scalebox{2}{S\mathbf{x}$S$} & {\black 0} & {\black 0} & {\black 0} &



{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{$S\mathbf{1}$} & {\black 0} & \ \scalebox{2}{$\mathbf{y}$}

& {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} & {\black 0} & \
\scalebox{2}{$\mathbf{x}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{$\mathbf{1}$} & {\black 0} & \ \scalebox{2}{$\mathbf{y}S$}

& {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & \scalebox{2}{$S\mathbf{1}$} & {\black 0} &
\scalebox{2}{$\mathbf{\bar x}$} & {\black 0} & {\black 0} & {\black 0}
& {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}$} & {\black 0} & \scalebox{2}{$S\mathbf{\bar
v1s$} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black



0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & \scalebox{2}{S\mathbf{1}$} &
{\black 0} & \ \scalebox{2}{$\mathbf{y}$} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & \scalebox{2}{S$\mathbf{1}$} & {\black 0} & \
\scalebox{2}{$\mathbf{x}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & \scalebox{2}{S\mathbf{1}S$} &
{\black 0} & \scalebox{2}{$\mathbf{\bar y}$} & {\black 0} & {\black 0}
& {\black 0} \\

\scalebox{2}{\textrm{\black Row 32:}} &{\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{$\mathbf{1}$} & {\black 0} & \scalebox{2}{$\mathbf{\bar
x}$}  \\

2
w
(.a.)
-.-aoo
—

\scalebox{2}{\textrm{\black Ro &\scalebox{2}{$\mathbf{1}$} &
{\black 0} & {\black 0} & {\black O} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & \scalebox{2}{S\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & \scalebox{2}{S\mathbf{1}S$} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} & {\black 0} &



{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & \scalebox{2}{S\mathbf{1}$} & \scalebox{2}{$\mathbf{1l}$}
& {\black 0} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & \scalebox{2}{S$\mathbf{1}$} & \scalebox{2}{$\mathbf{1}3$} & {\black 0}
& \scalebox{2}{S\mathbf{1}S$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & \scalebox{2}{S\mathbf{1}S$} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} \\

&{\black 0} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}S$} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} & {\black 0} &
\scalebox{2}{$S\mathbf{1}S$} & \scalebox{2}{S$S\mathbf{1}S$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & \scalebox{2}{S\mathbf{1}$} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & \scalebox{2}{$S\mathbf{1}S$} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}$} & \scalebox{2}{$\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & \scalebox{2}{S\mathbf{1}$} & \scalebox{2}{$S\mathbf{1}$} & {\black 0}
& \scalebox{2}{S\mathbf{1}S$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} \\

& {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & \scalebox{2}{$\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & \scalebox{2}{S\mathbf{1}$} & \scalebox{2}{$S\mathbf{1}$} & {\black 0}
& \scalebox{2}{$S\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{$\mathbf{1}$} & {\black 0} & {\black 0} &
\scalebox{2}{$\mathbf{1}$} & \scalebox{2}{$\mathbf{1}$} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & \scalebox{2}{$S\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & \scalebox{2}{S\mathbf{1}S$} &



{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & \scalebox{2}{S\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}S$} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} &
\scalebox{2}{S\mathbf{1}S$} & {\black 0} & \scalebox{2}{S\mathbf{1l}$} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} &
\scalebox{2}{$\mathbf{1}$} & {\black 0} & \scalebox{2}{$\mathbf{1}S$} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} \\

&{\black 0} & \scalebox{2}{S\mathbf{1}S$} & {\black 0} & {\black 0} &«
{\black 0} & \scalebox{2}{$S\mathbf{1}S$} & {\black 0} & {\black 0} &
{\black 0} & \scalebox{2}{S\mathbf{1}S$} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} \\

& \scalebox{2}{S\mathbf{1}S$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{$\mathbf{1}$} & {\black 0} & \scalebox{2}{$\mathbf{1}$} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & \scalebox{2}{S$S\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{$\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{$\mathbf{1}$} \\

&{\black 0} & {\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} &

{\black 0} & {\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1l}$} &
{\black 0} & {\black 0} & {\black 0} & \scalebox{2}{$S\mathbf{1}$} &
{\black 0} & {\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} &
{\black 0} & {\black 0} & {\black 0} & \scalebox{2}{$S\mathbf{1}$} &
{\black 0} & {\black 0} & {\black 0} & \scalebox{2}{S\mathbf{1}$} &

{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black



0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}S$} & {\black 0} & \scalebox{2}{S\mathbf{1l}$} &
{\black 0} & \scalebox{2}{S\mathbf{1}S$} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & \scalebox{2}{S\mathbf{1}S$} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}S$} & {\black 0} & \scalebox{2}{S\mathbf{1l}$} &
{\black 0} & \scalebox{2}{S\mathbf{1}S$} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{$\mathbf{1}$} & {\black 0} & \scalebox{2}{$\mathbf{1}S$} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} \\

&{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S$S\mathbf{1}$} & {\black 0} & \scalebox{2}{$S\mathbf{1}S$} &
{\black 0} & \scalebox{2}{$\mathbf{1}S$} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{S\mathbf{1}S$} & {\black 0} & {\black 0} \\
\scalebox{2}{\textrm{\black Row 48:}} &{\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black 0} & {\black
0} & {\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & \scalebox{2}{$\mathbf{1}$} & {\black 0} &
{\black 0} & {\black 0} & \scalebox{2}{S$\mathbf{1l}$} &
\scalebox{2}{$\mathbf{1}$} & {\black 0} & {\black 0} & {\black 0} &
{\black 0} & {\black 0} & {\black 0} & {\black 0} &
\scalebox{2}{$\mathbf{1}$} & {\black 0} & \scalebox{2}{$\mathbf{1}3$} &
{\black 0}

\end{array}}

%\right)

$1}

\end{center}

\caption{The matrix $J$, where ${\rm x} = \frac{9+i\sgrt{15}}{8}$ and
S{\rm y}=-\frac{3+i\sqgrt{15}}{4}$.}

\label{table:J}

\end{table}



